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1INTruN339Ia (Observation Equation) V = AX-L ile v fio Residual Vector
A #la Coefficient Matrix 9y X 1ufite Unknown Parameter Vector uaz L fie
Observation Vector awddy aaldnannsvesdaauns (Least-Squares Principle) Tav
14 Gaussian Function q) = VI PV o

1.1) m181 Unknown Parameters X (15 aguuu)

1.2) A1 Residual Vector V (5 Azuuu)

1.3) 71 Posteriori Variance (002) (5 AzLWU) La

1.4) anuudoesniiein L, (Adjusted Observations) (5 Aziiuu)

Tuaaadtinnedazidsaasudu Amuali P fie Weight Coefficient Matrix ( 533 30 fizuu )
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mnaunsidauly (Condition equation) BV + W = 0 iile V #e Residual Vector uaz 'V
fim Misclosure Vector s3lindnmsvesiiaauns (Least-Squares Principle) Tav14 Gaussia 1
Function (I) uaz Lagrange Multiplier K iiefmuismiadfuuduessiieda L, (Adjusted

Observations) uazasuans lifudwA VPV = -KTW (25 pzuu)
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